Chapter 2 Mid-Chapter Review 2
AP Calculus
1.  Find a function 
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 whose graph has an x-intercept of 
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, a y-intercept of  –2, and a tangent line with a slope of  –3 at the x-intercept.
2.  Find an equation of the tangent line to the graph of 
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3.  Find 
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4.  Show that 
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     Is continuous at x = 1.  Determine whether f is differentiable at x = 1.  If so, find the value of the derivative

     there.  
5.  Find 
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6.  Find the velocity and acceleration at  t = 3 seconds if a body’s position is represented by the function 
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7.  Find 
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8.  Determine the moment when the particle that moves along a line that has position 
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     changes direction.
9.  Write an equation of the line tangent to 
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10.  What is  
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